Iona Physics Lab Exercise:

Lab:  To measure the acceleration due to gravity directly
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Sir Isaac Newton, so the story goes, was hit on the head with an apple, thus giving birth to his theory of gravity.  We will use a special ball with a timer inside which will measure the amount of time the ball is in the air. The timer begins when the button on the display is released, and it stops when the ball is caught or it hits a surface.

Procedure:

1. Bring the ball to the catwalk.

2. Record the vertical distance from where the ball is dropped to the cushioning material below. Call that distance d.

3. Zero the timer.

4. Drop the timer carefully into the box with cushioning material below.

5. Record the time it took for the ball to fall.  Call that t.

6. Solve the relationship d=vit + ½ at2    for a, realizing that vi is zero.

7. Calculate the value of the acceleration due to gravity in the lab.

8. Conclusion:  The acceleration due to gravity was measured to be ………..

9. When writing your lab report, use your own picture(s) as a diagram.  Do not use the two diagrams provided above.

